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College Algebra - Test1 Name: )C %\[/)

—3x ifx<0O
1. (6 points) Suppose g(x) =3 V16—-x2 if0<x<4 }.

x—-4)? ifx>4
Evaluate the piecewise defined function at the values indicated below.

@ g1 = -3(1)=3 (a)

® -3 = -33) =1 o w1
© g0 = 4 (c)i'_
@ s® = 0 | @_ 2

@© g(6)=(é—”3‘l L f o1
® g<8>=(3«‘4)1=41:\6 @

2. (4 points) Sketch the graph of the piccewise function defined above.
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3. (5 points) Write the domain of f(x) =

using interval notation.

= L oo (4,00)

4. (5 points) Write the domain of f(x) = V2x + 3 using interval notation.

4 E3/1 ’ chﬂ)
Lyak 290 T
2x 2 73 -3,
X =~ |
5. (5 points) Find f/g and its domain. f(x) = V25—x? and g(x) = V2+x
_‘_"—;:——1 -f/{j: 15~ %
(/s )6x) = Jas-¢ : T

Vaex /—%@—35———6 X, daw(F)
dor(h) = C-a, €1 |

'gu"__)(: -1, a3 ;
)( _?__ i f)“:_e_s’ Ap}\fw _
%g}%{*‘lé _—’———%‘J——A )'e h,\"f?.r‘_\—? c"g,m

- 5
6. (5 points) Find the average rate of changé of f(x) = 2x%2 ~ 3x from x; = 2 to

X2=3
o 7

Cla)-4ly) 9 — 2

._7
= o el Gy —_
|

fG)=2-9-3()
=18-4=9 e

e

Hzy=1-+% -3(»

- XLz



X

7. (12 points) The graph of a func-
tion f is given. Assume the entire
‘graph of f is shown in the figure.

(a) Find all local and absolute max-

imum and minimum values of the
function and the value of x at
which each occurs.

t{‘og P K ('—'"-1‘) abhsia (“‘f,'*)
(()cu{ PARX (—1, f]) (’;’)

local mia (0,“1) } (l,'l)
(b) State the_x intervals for which
f(x) > 0.

2, -1) v 0, f2) vz, 1]

(c) State the x intervals for which f(x) < 0.

[ 24) u(-1,0.8) v (12,%7)

(d) Find the x intervals on which the function is increasing.
E_ Yy ;—D‘) J ((}, EJ Vv (1rq]

(e) Find the x intervals on which the function is decreasing.
('11 0) .U (‘z 1)

(f) Find f(4). ®

(g) Find f(-1). €:4)
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Directions: Sketch the graph of the function, not by plotting points, but by
starting with the graph of a standard function and applying transformations.

Label at least 3 points on your final graph. (4 3 J,—T
‘ =-3{4
8. (5 points) A(x) = -3 Vx~— 4+1 iy
'F(X):H l l?: €= /‘; (4‘0)
Y A AY | et R
| (4 ) ( g; 1) 3 .uh"';
% - . 26
i oj (‘, 1)//..,/’-3- . (!)_' f_) /ﬂ (5 ’”5}*-\\\%. ( g, )
4 A /,,w‘ - ‘,«‘/ — “‘n..h__\
- ey g —#—+ +—
co . (4,0) » )
st W/
o v T
{[;\’fxﬂ\
A c\r «,PL‘ 4
VIO —
A Gnd -2
Find f o g'its domain. &
9. (Spoints) f(x) = ——— and g(¥)=2+7x. E —s
- _ 1
—— s
_F\(ﬁj()f)) = ‘?(1*1[) = ‘___. (]_4'7);) | Eal S 4 -l -

‘ R
Gﬂa( "("‘7){:"‘0 (LAI\L"\ ’l :’IK or \ML‘!"\ XK= /7

, dm@a%&lﬂ '—i/?z arc .(— ,,o/*‘/-;)d("/vjao)




10. (5 points) Find the inverse function of f (x)' e

Lx }
= — L oxvy+dx=2
3 X473 ! ) ") ‘
e A \
v= 23 %
\14—3 X[ﬁ—lL)+~5)(:O %1
3w X f
x(g¥) =1y |
‘E ¥ -—l\a :—):x 5
J 2

11. (3 points) Find the vertex of g(x) = —~3(x+4)*—7. Does f open up or down?
| 11. __.0.,(..@:’__‘“___

12. (3 points) What is the range of g(x) = 3(x — 5)* + 77

7 U IZ.M

S 5
Express the quadratic function in standard (vertex) form. L 9
13. (5 points)  g(x) = 2x> +4x—7 (3"‘} = 2 ) -t

_ (Xl-f-l)() = : T

] ()f?'-z-l_x D e

W

= 1(x1~=-1>“_"_(_> -/ - L

= 1 /x+‘)1'”g
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